

INVOICE

www.aewinc.com

p(586)726-1234

January 3, 2024

Project No:

0160-0446-0

Invoice No:

147799

CITY OF GROSSE POINTE WOODS **ACCOUNTS PAYABLE** 20025 MACK AVENUE GROSSE POINTE WOODS, MI 48236-2397

Project

0160-0446-0

VERNIER ROAD WATER MAIN REPLACEMENT

PURCHASE ORDER #21-46704 - \$217,000.00

FOR: CONTRACT ADMINISTRATION & CONSTRUCTION OBSERVATION Professional Services from November 20, 2023 to December 17, 2023

Professional Personnel

	Hours	Rate	Amount	
RESEARCH/REVIEW				
PRINCIPAL ENGINEER	2.70	114.30	308.61	
CONTRACT ADMINISTRATION				
LICENSED ENG/SUR/ARC	11.50	114.30	1,314.45	
TEAM LEADER	1.50	92.70	139.05	
ENGINEERING AIDE III	.70	77.70	54.39	
ENGINEERING AIDE I	.30	62.10	18.63	
Totals	16.70		1,835.13	
Total Labor				1,835.13
Consultants				
DEMANDED AND E CONOUR TANK EVERNOR				

ng Limits		Current	Prior	To-Date	
	Total Consultants			792. 00	792.00
11/28/2023	G2 CONSULTING	Invoice# 233408		792.00	
REIMBURSABLE	CONSULTANT EXPENSE				

Billing Limits	Current	Prior	To-Date
Total Billings	2,627.13	100,749.95	103,377.08
Limit			217,000.00
Remaining			113,622.92

Total this Invoice

\$2,627.13

Outstanding Invoices

Number	Date	Balance	
147364	11/29/2023	10,132.58	pd 12/21/23
Total		10,132.58	,

RECEIVED

JAN 18 2024

CITY OF GROSSE POINTE WOODS CLERK'S DEPARTMENT

PO46704 # 592-537-977.310 ok-JX FS 1-18-24

G2 Consulting Group, LLC 1866 Woodslee Street

Troy, MI 48083

Voice: 248.680.0400

Fax: 248.680.9745

Bill To: Accounts Payable

Anderson, Eckstein & Westrick

51301 Schoenherr Road Shelby Township, MI 48315

INVOICE

Invoice Number:

233408

Invoice Date:

October 31, 2023

Page Number:

1

Customer ID	Purchase Order No.	G2 Project No.
AEW001	AEW No. 0160-0446	230769
Payment Terms	Due Date	Ship Date Shipping Method
Net 30 Days	November 30, 2023	

Quantity	Description	Unit Price	Amount
5.25	Engineering Technician, Regular Hours, each	71.00	372.75
1.75	Engineering Technician, Cylinder Pick-Up on 11/4/23	71.00	124.25
1.00	Project Manager, per hour	162.00	162.00
0.50	Administrative Assistant, per hour	62.00	31.00
6.00	Compressive Strength Test Cylinders, each	17.00	102.00
	Vernier Road Watermain Replacement, Grosse Pointe, Michigan - Quality Control Observation and Testing Services on 11/2/23 and 11/3/23		
	Client Contact: Brad Smith		

Total Invoice Amount

\$

792.00

If you have any questions concerning this invoice, call Mark W. Smolinski, (248) 680-0400. Client agrees to pay a charge of 1.5 percent per month on accounts past due 30 days from invoice date.

Make all checks payable to: G2 Consulting Group, LLC.



ANDERSON, ECKSTEIN & WESTRICK, INC. CIVIL ENGINEERS SURVEYORS ARCHITECTS 51301 SCHOENHERR RD. SHELBY TOWNSHIP, MI 48315 www.aewinc.com p(586)726-1234

INVOICE

January 3, 2024

Project No:

0160-0449-0

\$457.20

Invoice No:

147800

CITY OF GROSSE POINTE WOODS ACCOUNTS PAYABLE 20025 MACK AVENUE GROSSE POINTE WOODS, MI 48236-2397

Project

0160-0449-0

SEWER SYSTEM EVALUATION

PURCHASE ORDER #22-46947 - \$107,000.00

FOR: EVALUATION, DEVELOPING TEMPLATE REPORT

Professional Services from November 20, 2023 to December 17, 2023

Phase

02

EVALUATION

Professional Personnel

		Hour	s Rate	Amount	
GENERAL					
LICENSED ENG.	/SUR/ARC	4.00	114.30	457.20	
	Totals	4.00)	457.20	
	Total Labor				457.20
			Total this Phase		\$457.20
Billing Limits		Current	Prior	To-Date	
Total Billings		457.20	34,087.58	34,544.78	
Limit				107,000.00	
Remaining				72,455.22	
Total Billings Limit		Current	Total th Prior	To-Date 34,544.78 107,000.00	

RECEIVED

JAN 1 8 2024

CITY OF GROSSE POINTE WOODS CLERK'S DEPARTMENT PO 46947 #592-537-818.000 OK-JK SM 1117/24 FS [-18-24]

Total this Invoice



INVOICE

January 3, 2024

Project No:

p(586)726-1234

0160-0453-0

Invoice No:

147802

CITY OF GROSSE POINTE WOODS ACCOUNTS PAYABLE 20025 MACK AVENUE GROSSE POINTE WOODS, MI 48236-2397

Project

0160-0453-0

2022 SEWER CCTV INVESTIGATION

PURCHASE ORDER #22-47271 - \$25,000.00

FOR: CONTRACT ADMIN.

Professional Services from November 20, 2023 to December 17, 2023

Professional Personnel

	Hours	Rate	Amount	
CONTRACT ADMINISTRATION				
TEAM LEADER	4.00	92.70	370.80	
ENGINEERING AIDE III	4.00	77.70	310.80	
Totals	8.00		681.60	
Total Labor				681.6 0
Billing Limits	Current	Prior	To-Date	
Total Billings	681.60	23,707.89	24,389.49	
Limit			25,000.00	
Remaining			610.51	
		Total this	Invoice	\$681.60

RECEIVED

JAN 18 2024

CITY OF GROSSE POINTE WOODS CLERK'S DEPARTMENT PO 47271 #592-537-975.004 OK-G.K SM 1/17/24 FS 1-18-24



INVOICE

www.aewinc.com

p(586)726-1234

January 3, 2024

Project No:

0160-0464-0

Invoice No:

147803

CITY OF GROSSE POINTE WOODS ACCOUNTS PAYABLE 20025 MACK AVENUE GROSSE POINTE WOODS, MI 48236-2397

Project

0160-0464-0

ROSLYN RD WATERMAIN & RESURF(MACK/MARTER

PURCHASE ORDER #23-47805 - \$480,000.00

FOR: CONSTRUCTION ADMIN. & CONSTRUCTION OBSERVATION

Professional Services from November 20, 2023 to December 17, 2023

Professional Personnel

	Hours	Rate	Amount
RESEARCH/REVIEW			
PRINCIPAL ENGINEER	1.00	114.30	114.30
CONTRACT ADMINISTRATION			
LICENSED ENG/SUR/ARC	8.00	114.30	914.40
GRADUATE ENG/SUR/ARC	1.50	92.70	139.05
TEAM LEADER	2.00	92.70	185.40
ENGINEERING AIDE III	1.80	77.70	139.86
ENGINEERING AIDE I	1.20	62.10	74.52
CONSTRUCTION OBSERVATION			
ENGINEERING AIDE III	82.50	77.70	6,410.25
GIS UPDATES			
ENGINEERING AIDE III	2.00	77.70	155.40
Totals	100.00		8,133.18
Total Labor			

8,133.18

Total this Invoice

\$8,133.18

Outstanding Invoices

Number 147366 Total Date 11/29/2023

Balance

23

22,418.43 pd 12/21/23

RECEIVED

JAN 18 2024

CITY OF GROSSE POINTE WOODS CLERK'S DEPARTMENT (647805 #203-451-977.803 \$ 2,033.29 #592-537-977.310\$ 6,099.89 ok-J.K 8M 1/17/24 FI 1-18-29



INVOICE

www.aewinc.com

p(586)726-1234

January 3, 2024

Project No: Invoice No:

0160-0465-0 147804

CITY OF GROSSE POINTE WOODS **ACCOUNTS PAYABLE** 20025 MACK AVENUE

GROSSE POINTE WOODS, MI 48236-2397

Project

0160-0465-0

LAKE FRONT PARK SPLASH PAD

PURCHASE ORDER #23-47806 - \$25,500.00

MEETINGS, EGLE PERMITS

Professional Services from November 20, 2023 to December 17, 2023

Professional Personnel

	Hours	Rate	Amount	
RESEARCH/REVIEW				
PRINCIPAL ENGINEER	.50	114.30	57.15	
MEETINGS				
LICENSED ENG/SUR/ARC	2.50	114.30	285.75	
Totals	3.00		342.90	
Total Labor				342.90
Billing Limits	Current	Prior	To-Date	
Total Billings	342.90	3,5 9 2.80	3,935.70	
Limit			25,500.00	
Remaining			21,564.30	
		Total this	Invoice	\$342.90

RECEIVED

JAN 18 2024

CITY OF GROSSE POINTE WOODS CLERK'S DEPARTMENT

PO 47806 # 401-902-977.104 OK-JK SMI11124

FS 1-12-74

INVOICE

www.aewinc.com

p(586)726-1234

1.50

3.50

.50

January 3, 2024

Project No: Invoice No: 0160-0472-0 147805

CITY OF GROSSE POINTE WOODS ACCOUNTS PAYABLE 20025 MACK AVENUE

GROSSE POINTE WOODS, MI 48236-2397

9047692 #592-537-977.000\$1,778.55 #101-265-818.000\$1,778.55

Project 0160-0472-0 PURCHASE ORDER #23-47692 - \$41,000.00

PRINCIPAL ENGINEER

LOCKWOOD, SCOTT

LOCKWOOD, SCOTT

LOCKWOOD, SCOTT

Plot plan review considerations

RESEARCH/REVIEW

2023-2024 GENERAL ENGINEERING #101-441-818.000 \$1,778.55 #592-537-818-000 \$1,778.55

114.30

Professional Services from November 20, 2023 to December 17, 2023
Professional Personnel
Hours

Rate Amount -18-24114.30 171.45
114.30 57.15

400.05

Project update and upcoming budget discussion
PRELIMINARY ENGINEERING
GRADUATE ENG/SUB/ARC

INDUNTE ENGINEET			
BOVE, JULIA	13.00	92.70	1,205.10
FY25Estimate			
MARCUS, PATRICK	.50	92.70	46.35

Calculate quantity and cost for pavement repair at Magic Square TEAM LEADER

VARICALLI, FRANK .50 92.70 46.35
VARICALLI, FRANK 1.00 92.70 92.70
field paint, calc.& est.for Magic Square conc. rehab.

MEETINGS

GRADUATE ENG/SUR/ARC			
MILLER, JEFFREY	2.50	92.70	231.75
Meeting at DPW to review GIS budget work			
TEAM LEADER			

VARICALLI, FRANK 5.00 92.70 463.50

Meeting with City on CIP budgets

CONSTRUCTION OBSERVATION

ENGINEERING AIDE III
MILLER, THOMAS 3.00 77.70 233.10

 $\label{eq:measure} \mbox{Measure and sketch prop. conc. repairs.} \\ \mbox{DESIGN DEVELOPMENT}$

GRADUATE ENG/SUR/ARC

STURGIS, COURTNEY

Ghesquiere Park - Path conceptual planning.

STURGIS, COURTNEY

5.50

92.70

509.85

Ghesquiere Park - Path conceptual planning.

Project	0160-0472-0	2023-2024 GE	ENERAL ENGINEERI	NG	Invoice	147805	
GENERAL							
	SED ENG/SUR/ARC						
	LBERDING, ROSS		1.00	114.30	114.30		
	Reviewing P.O. list for p	rojects to close. Sumi					
	spending for 2023						
WI	LBERDING, ROSS		1.00	114.30	114.30		
	Updates to budgeting sp	readsheet and sendir	= :				
WII	LBERDING, ROSS		4.00	114.30	457.20		
	Budgeting meeting						
WII	LBERDING, ROSS		1.00	114.30	114.30		
	Discussing concrete unit discussion with F. Schult			up			
WII	LBERDING, ROSS	e. Coordinating apasi	1.50	114.30	171.45		
****	Discussing upcoming vot	e on revisions to GLV			171.40		
	TMF grant webinar on be		mediodology. Ale	conding LOL			
WIL	LBERDING, ROSS		.50	114.30	57.15		
	Follow up conversation r	e: walking path					
Wil	LBERDING, ROSS		.50	114.30	57.15		
	Reviewing and discussing	j revisions to walking	path concept drawings				
Wil	LBERDING, ROSS		.50	114.30	57.15		
	Reviewing and sending v	valking path concept p	plans to city				
WIL	_BERDING, ROSS		1.50	114.30	171.45		
	Reviewing Road Estimate	s by J. Bove					
WIL	BERDING, ROSS		2.50	114.30	285.75		
	Setting up Construction (squiere park			
IS UPDAT	pathway . Preparing Eng	neering Meeting Age	nda				
	EERING AIDE III WALCHICK ANTHON	,	5,20	77.70	404.04		
KO	WALCHICK, ANTHON' adj stopbox locations	ī	5.20	77.70	404.04		
KΟ	WALCHICK, ANTHON	,	1.30	77.70	101.01		
IXO.	creat 2024 rehab road/w			77.70	101.01		
KO	WALCHICK, ANTHON'	•	.40	77.70	31.08		
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	get new watermain breal				01.00		
KΟ\	WALCHICK, ANTHON		1.40	77.70	108.78		
	move more stop boxes						
KO\	WALCHICK, ANTHON	1	.50	77.70	38.85		
	move some stop boxes, a		rm to data set				
KOV	WALCHICK, ANTHONY		6.70	77.70	520.59		
	move stop boxes						
KOV	WALCHICK, ANTHONY	(6.00	77.70	466.20		
	move stop boxes to the o	orrect locations					
	Totals		75.00		7,006.20		
	Total Labor					7,006.20	
lling Limit	rs.		Current	Prior	To-Date		
-							
Total Bill			7,006.20	5,420.31	12,426.51		
Limi					41,000.00 28,573.49		
Hem	naining				20,073.48		
				Total this	Invoice	\$7, 0 06.2 0	
utatandin-	ı İnvolosa						
utstanding		** *	Det				
	Number	Date	Balance	101 DED			
	146776	10/23/2023					
	147369	11/29/2023	1,298.94 P	d 12/21/2	3		
	Total		1,322.25	1-16			



INVOICE

www.aewinc.com

p(586)726-1234

January 3, 2024

Project No:

0160-0473-0

Invoice No:

147806

CITY OF GROSSE POINTE WOODS **ACCOUNTS PAYABLE** 20025 MACK AVENUE GROSSE POINTE WOODS, MI 48236-2397

Project

0160-0473-0

TORREY ROAD PUMP STATION GENERATOR

PURCHASE ORDER #23-48021 - \$110,000.00

Professional Services from November 20, 2023 to December 17, 2023

Fee

Construction Cost

1,600,000.00

Fee Percentage

5.80

Total Fee

92,800.00

Percent Complete

100.00 Total Earned

92,800.00

Previous Fee Billing

74,240.00

Current Fee Billing

18,560.00

Total Fee

18,560.00

Billing Limits

Current

Prior

To-Date

Total Billings

18,560.00

92.800.00

Limit

Remaining

74,240.00

110,000.00

17,200.00

Total this Invoice

\$18,560.00

Outstanding Invoices

Number

Date

Balance

147370

11/29/2023

27,840.00

Total

27,840.00 PC 12/21/23

RECEIVED

JAN 1 8 2024

CITY OF GROSSE POINTE WOODS CLERK'S DEPARTMENT

P048021 # 592-542-818.000

ok gk FS 1-18-29 Sm 1/18/24

Torrey Road Pump Station Generator AEW Project No. 0160-0473 Summary of Time Spent for Design, Specification, Bidding and Subconsultant Fees

Hours	Description			
1.5	CAD Oversight			
1	Architectural Oversight			
4	Architectural Design			
1.5	CAD			
18	Survey			
6.7	Structural Design			
8.9	CAD			
8.5	Architectural Design			
5	Survey Oversight, Project Setup			
12.5	Survey			
47	Survey			
17.3	Architectural Design			
8.5	Oversight			
2	Survey			
11.3	QAQC			
49	Project Management			
3	Survey			
6	Structural Design			
211.7				
	1.5 1 4 1.5 18 6.7 8.9 8.5 5 12.5 47 17.3 8.5 2 11.3 49 3 6			

Subconsultants

	Amount	Description
	15,000	Peter Basso Associates, Inc.
	15,000	Peter Basso Associates, Inc.
	10,000	Peter Basso Associates, Inc.
-	40,000	



INVOICE

\$650.25

www.aewinc.com

p(586)726-1234

January 5, 2024

Project No:

0160-0430-0

Invoice No:

Total this Invoice

148025

CITY OF GROSSE POINTE WOODS ACCOUNTS PAYABLE 20025 MACK AVENUE GROSSE POINTE WOODS, MI 48236-2397

Project

0160-0430-0

SEWER REHABILITATION - OPEN CUT

FOR: CONSTRUCTION INSPECTION AND CONTRACT ADMINISTRATION

PURCHASE ORDER #20-46059

Professional Services from November 20, 2023 to December 17, 2023

Professional Personnel

	Hours	Rate	Amount	
CONTRACT ADMINISTRATION				
TEAM LEADER	4.00	92.7 0	370.80	
ENGINEERING AIDE III	3.00	77.70	233.10	
MEETINGS				
TEAM LEADER	.50	92.7 0	46.35	
Totals	7.50		650.25	
Total Labor				650.25
Billing Limits	Current	Prior	To-Date	
Total Billings	65 0 .25	122,919.62	123,569.87	
Limit			175,000.00	
Remaining			51,430.13	

RECEIVED

JAN 18 2024

CITY OF GROSSE POINTE WOODS CLERK'S DEPARTMENT 1046059 #592-537-976.601 0K-9.K SM 1(17/24 [-5]-18-24



INVOICE

www.aewinc.com

p(586)726-1234

January 5, 2024

Project No:

0160-0474-0

Invoice No:

148026

CITY OF GROSSE POINTE WOODS **ACCOUNTS PAYABLE** 20025 MACK AVENUE GROSSE POINTE WOODS, MI 48236-2397

Project

0160-0474-0

707 N. RENAUD PLOT PLAN REVIEW

Professional Services from November 20, 2023 to December 17, 2023

Professional Personnel

	Hours	Rate	Amount	
MEETINGS				
PRINCIPAL ENGINEER	2.50	114.30	285.75	
ENGINEERING PLAN REVIEW				
PRINCIPAL ENGINEER	2.50	114.30	285.75	
Totals	5.00		571.50	
Total Labor				571.50
200 /11 /200		Total this I	nvoice	\$571.50

215H HHUNGINGE

RECEIVED

JAN 1 8 2024

CITY OF GROSSE POINTE WOODS CLERK'S DEPARTMENT

PO 47692 #101-265-818.000 OK-J.K SM 1117124 FS 1-19-24



ANDERSON, ECKSTEIN & WESTRICK, INC. CIVIL ENGINEERS SURVEYORS ARCHITECTS 51301 SCHOENHERR RD. SHELBY TOWNSHIP, MI 48315 www.aewinc.com p(586)726-1234

INVOICE

January 5, 2024

Project No:

0160-0452-0

Invoice No:

148034

CITY OF GROSSE POINTE WOODS ACCOUNTS PAYABLE 20025 MACK AVENUE GROSSE POINTE WOODS, MI 48236-2397

Project

0160-0452-0

2022 SIDEWALK REPAIR PROGRAM DIST 8

PURCHASE ORDER #22-47267 - \$10,000.00

FOR: CONTRACT ADMIN. & CONTRACT QUANTITY CLOSEOUT. AMOUNT EXCEEDS APPROVED P.O. AMOUNT DUE TO WORK EXCEEDING CONTRACT AMOUNT AND DEGOTIATING FINAL QUANTITY DISCREPANCIES

Professional Services from November 20, 2023 to December 17, 2023

Fee

Construction Cost

188,600.00

Fee Percentage

4.24

Total Fee

7,996.64

Percent Complete

50.00 Total Earned

3,998.32

Previous Fee Billing

3,998.32

Current Fee Billing

0.00

Total Fee

0.00

Professional Personnel

	Hours	Rate	Amount	
CONTRACT ADMINISTRATION				
TEAM LEADER	9.00	92.70	834.30	
ENGINEERING AIDE III	2.50	77.70	194.25	
MEETINGS				
TEAM LEADER	2.50	92.70	231.75	
GIS UPDATES				
GRADUATE ENG/SUR/ARC	1.00	92.70	92.70	
ENGINEERING AIDE III	9.50	77.70	738.15	
Totals	24.50		2,091.15	
Total Labor				2,091.15

Total this Invoice

\$2,091.15

24-10 48148 \$202-451-976.100 \$418.22 \$203-451-976.100 \$1,045,58 \$592-537-976.100 \$627.35

RECEIVED

JAN 18 2024

CITY OF GROSSE POINTE WOODS CLERK'S DEPARTMENT

ok-GK

5m 1/17/24 FS 1-18-24



ANDERSON, ECKSTEIN & WESTRICK, INC.

CIVIL ENGINEERS - SURVEYORS - ARCHITECTS

Shelby Township - Roseville - Livonia 586.726.1234 | www.aewinc.com

January 10, 2024

RECEIVED

Shawn Murphy
City of Grosse Pointe Woods
20025 Mack Avenue
Grosse Pointe Woods, Michigan 48236-2397

JAN 18 2024

CITY OF GROSSE POINTE WOODS CLERK'S DEPARTMENT

Reference: 2022 Sewer Cleaning and CCTV Investigation Program

City of Grosse Pointe Woods AEW Project No. 0160-0453

Dear Ms. Murphy:

Enclosed please find the Final Pay Estimate, Sworn Statement and the Consent of Surety for the above referenced project. For work performed through December 22, 2023, we recommend issuing payment for the **Net Earnings this Period (see Page 2)** in the amount of **\$27,921.12** to Corby Energy Services, Inc., 6001 Schooner Drive, Belleville, MI 48112.

If you have questions or require additional information, please contact our office.

Sincerely,

--- DocuSigned by:

Frank D. Varicalli

--- C4D17CC8031F4D4...

Frank D. Varicalli Infrastructure Rehab Group Lead PO 47292 # 592-537-975.005 OK-J:K-SM 1/17/24

F) 1-18-24

cc: Frank Schulte, City Administrator
Jim Kowalski, Director of Public Services
Jeanne Duffy, Grosse Pointe Woods
Susan Como, Assistant City Administrator
Jacob Martin, Corby Energy Services, Inc.
Ross Wilberding, AEW, Inc.



Construction Pay Estimate Report

Anderson, Eckstein and Westrick, Inc.

12/22/2023 3:07 PM

FieldManager 5.3c

Contract: .0160-0453, 2	2022 Sewer	Cleaning and	CCTV Investigation
-------------------------	------------	--------------	---------------------------

Estimate No.		mate ate	Eı	ntered By	Estimate Type	Managing Office
2	12/22	2/2023	Michelle A	Inkawi	Final	Anderson, Eckstein and Westrick, Inc.
All Contract Construction Work Completed Started Date 10/23/2023 9/20/2022 PO		Prime Contra Corby Energy PO Box 970 Belleville MI 48	Services, Inc.			
Comments Current Contra	act Amo	unt: \$124	4,849.60			

Item Usage Summary

Project: 0160-0453, 2022 Sewer Cleaning and CCTV Investigation

Category: 0000,

% Completed: 100

Item Description	Unit	Item Code	•	Project Line No.			Quantity	Item Price	Dollar Amount
_ Lateral Cutting & Brushing	Hr	8167040	0115	0115	SA	001	36.360	550.00	\$19,998.00
							Subtotal for Cat	egory 0000: _	\$19,998.00
						S	ubtotal for Projec	t 0160-0453: _	\$19,998.00
				~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~		T	otal Estimated Ite	em Payment:	\$19,998.00

#### **Time Charges**

Site	Site Description	Site Method	Days Charged	Liq. Damages
00	SITE NUMBERS SHOULD BE CODED 00	Completion Date		\$0
		Total	Liquidated Damages:	\$0

#### **Pre-Voucher Summary**

Project	Voucher No.	Item Payment	Stockpile Adjustment	Dollar Amount
0160-0453, 2022 Sewer Cleaning and CCTV Investigation	0002	\$19,998.00	\$0.00	\$19,998.00
The state of the s			Voucher Total:	\$19,998.00

# **Construction Pay Estimate Report**

Anderson, Eckstein and Westrick, Inc.

12/22/2023 3:07 PM

FieldManager 5.3c

#### **Summary**

-Current Adjustments:	\$0.00	- Adjustments to date:	\$0.00
Total Estimated Payment:	\$27,921.12	Net Earnings to date:	\$124,849.60
		- Payments to date:	\$96,928.48
		Net Earnings this period:	\$27.921.12

#### **Estimate Certification**

I certify the items included on this report constitute my estimate of work completed and due the contractor as of the date of this document.

Frank O. Vanicalli	01/10/2024
Frank D. Varicalli, AEW, Inc.	(Date)
Jacob Martin	01/10/2024
Corby Energy Services, Inc.	(Date)



# **Construction Pay Estimate Amount Balance Report**

Estimate: 2

12/22/2023 3:07 PM

FieldManager 5.3c

Anderson, Eckstein and Westrick, Inc.

Contract: .0160-0453, 2022 Sewer Cleaning and CCTV Investigation

Project: 0160-0453, 2022 Sewer Cleaning and CCTV Investigation

Category: 0000,

Prop. Line	Item Description	Item Code	Authorized Qty.		ity This mate	Qty. Paid To Date	Total Qty. Placed	% Cpt	Unit Price	Dollar Amt. Paid To Date
0005	_ Bonds, Insurance and initial Set-Up Expe nse (3% Max)	1027051	1.000 L	.s		1.000	1.000	100%	4,600.00000	\$4,600.00
0010	_ Mobilization	1027051	1.00 <b>0</b> L	1.00 <b>0</b> LS		1.000	1.000	100%	5,000.00000	\$5,000.00
0015	_ Cleaning 06-12 inch Combined Sewers	4027001	8,944.300 F	₹t		8,944.300	8,944.300	100%	1.50000	\$13,416.45
0020	_ Cleaning 15-21 inch Combined Sewers	4027001	5,118.400 F	₹t		5,118.400	5,118.400	100%	1.75000	\$8,957.20
0025	_ Cleaning 24-36 inch Combined Sewers	4027001	3,325.800 F	<b>=</b> 1		3,325.800	3,325.800	100%	2.00000	\$6,651.6 <b>0</b>
0030	_ Cleaning 39-48 inch Combined Sewers	4027001	2,484.900 F	-t		2,484.900	2,484.900	100%	2.50000	\$6,212.25
0035	_ Final TV Investigation and Log, 06-12 in ch Combined Sewers	4027001	8,944.300 F	=t		8,944.300	8,944.300	100%	1.50000	\$13,416.45
0040	_ Final TV Investigation and Log, 15-21 in ch Combined Sewers	40270 <b>0</b> 1	6,136.300 F	=t		6,136.300	6,136.300	10 <b>0</b> %	1.50000	\$9,204.45
0045	_ Final TV Investigation and Log, 24-36 in ch Combined Sewers	4027001	3,338.800 F	=t		3,338.800	3,338.800	100%	1.50000	\$5,008.20
0050	Final TV Investigation and Log, 39-48 in ch Combined Sewers	4027001	3,336.800 F	Ft		3,336.800	3,336.800	100%	2.00000	\$6,673.60
0055	Final TV Investigation and Log, 54 inch Combined Sewers	4027001	532.700 F	Ft		532.700	532.700	100%	3.00000	\$1,598.10
0060	_ Final TV Investigation and Log, 60 inch Combined Sewers	4027001	1,318.100 F	Ft		1,318.100	1,318.100	1 <b>0</b> 0%	3.00000	\$3,954.3 <b>0</b>
0065	_ Heavy Cleaning 06-12 inch Combined Sewer s	4027001	1,908.900 F	Ft		1,908.900	1,908.900	100%	1.00000	\$1,908.90
0070	_ Heavy Cleaning 15-21 inch Combined Sewer s	4027001	2,479.300 F	Ft		2,479.300	2,479.300	100%	1.00000	\$2,479.30
0075	_ Heavy Cleaning 24-36 inch Combined Sewer s	4027001	1,702.400 i	Ft		1,702.400	1,702.400	100%	1.00000	\$1,702.40
0800	_ Heavy Cleaning 39-48 inch Combined Sewer s	4027001	1,368.400 [	Ft		1,368.400	1,368.400	100%	1.00000	\$1,368.40
0085	_ Cutting Service Lead Protrusions	4027050	0.000 1	Ea		0.000			50.00000	
0090	_ Mineral Deposit, Rem	4027 <b>0</b> 50	0.000 1	Ea		0.000			25.00000	
0095	_ Traffic Control, Major Street	8127051	0.0001	LS		0.000			7,500.00000	
0100	_ Traffic Control, Minor Street	8127051	1.000	LS		1.000	1. <b>0</b> 00	100%	5,000.00000	\$5,000.00
0105	_ Extra Heavy Cleaning	8167040	16.000 1	Hr		16.000	16.000	100%	325.00000	\$5,200.00
0110	_ Deliverables	8267051	1.000 1	LS		1.000	1.000	100%	2,500.00000	\$2,500.00



### **Construction Pay Estimate Amount Balance Report**

Estimate: 2

12/22/2023 3:07 PM

Anderson, Eckstein and Westrick, Inc.

FieldManager 5.3c

Project: 0160-0453, 2022 Sewer Cleaning and CCTV Investigation

Category: 0000,

Prop. Line	Item Description	Item Code	Authorized Qty.	Quantity Ti Unit Estimate	is	Qty. Paid To Date	Total Qty. Placed	% Cpt	Unit Price	Dollar Amt. Paid To Date
0115	_ Lateral Cutting & Brushing	8167040	36.360 H	Hr :	6.360	36,360	36.360	100%	550.00000	\$19,998.00
							Sı	ubtotai fo	r Category 0000:	124849.60

Subtotal for Project 0160-0453:

124849.60

Percentage of Contract Completed(curr): 100% (total earned to date / total of all authorized work) Total Amount Earned This Estimate: \$19,998.00

Total Amount Earned To Date: \$124,849.60

Page 2 of 2 Contract: .0160-0453 Estimate: 2

# @AIA Document G707 $^{\text{\tiny{M}}}$ – 1994

Consent Of Surety to Fin	al Payment	107609489
PROJECT: (Name and address) 2022 Sewer Cleaning and CCTV	ARCHITECT'S PROJECT NUMBER	R: OWNER:
Investigation - AEW Project No. 0160-0453	CONTRACT FOR:	ARCHITECT:
		CONTRACTOR:
TO OWNER: (Name and address)	CONTRACT DATED: 2/28/2022	SURETY: 🔀
City of Grosse Pointe Woods 20025 Mack Plaza Grosse Pointe Woods, MI 48236		OTHER:
In accordance with the provisions of the Co (Insert name and address of Surety)  Travelers Casualty and Surety Co		tractor as indicated above, the
1441 W Long Lake Rd, Suite 300		
Troy, MI 48098 on bond of (Insert name and address of Contractor) Corby Energy Services Inc. 6001 Schooner Belleville, MI 48112		, SURETY.
hereby approves of the final payment to the not relieve the Surety of any of its obligatio (Insert name and address of Owner)		· · · · · · · · · · · · · · · · · · ·
City of Grosse Pointe Woods		
20025 Mack Plaza		
Grosse Pointe Woods, MI 48236 as set forth in said Surety's bond.		, owner.
IN WITNESS WHEREOF, the Surety has h (Insert in writing the month followed by the	numeric date and year.)	ers Casualty and Surety Company of
	(Suret)	Test de Moura
	(Signa	ture of authorized representative)
18-		
Attest: (Seal):		Young, Attorney-in-Fáct ed name and title)
(Star).	(1) (1)	and the state of the control of the



Travelers Casualty and Surety Company of America Travelers Casualty and Surety Company St. Paul Fire and Marine Insurance Company

#### POWER OF ATTORNEY

KNOW ALL MEN BY THESE PRESENTS: That Travelers Casualty and Surety Company of America, Travelers Casualty and Surety Company, and St. Paul Fire and Marine Insurance Company are corporations duly organized under the laws of the State of Connecticut (herein collectively called the "Companies"), and that the Companies do hereby make, constitute and appoint Terri L. Young of FARMINGTON HILLS , Michigan , their true and lawful Altorney(s)-in-Fact to sign, execute, seal and acknowledge any and all bonds, recognizances, conditional undertakings and other writings obligatory in the nature thereof on behalf of the Companies in their business of guaranteeing the fidelity of persons, guaranteeing the performance of contracts and executing or guaranteeing bonds and undertakings required or permitted in any actions or proceedings allowed by law.

IN WITNESS WHEREOF, the Companies have caused this instrument to be signed, and their corporate seals to be hereto affixed, this 21st day of April.







State of Connecticut

City of Hartford ss.

On this the 21st day of April, 2021, before me personally appeared Robert L. Raney, who acknowledged himself to be the Senior Vice President of each of the Companies, and that he, as such, being authorized so to do, executed the foregoing instrument for the purposes therein contained by signing on behalf of said Companies by himself as a duly authorized officer.

IN WITNESS WHEREOF, I hereunto set my hand and official seal.

My Commission expires the 30th day of June, 2026



Anna P. Nowik, Notary Public

Senior Vice President

This Power of Attorney is granted under and by the authority of the following resolutions adopted by the Boards of Directors of each of the Companies, which resolutions are now in full force and effect, reading as follows:

RESOLVED, that the Chairman, the President, any Vice Chairman, any Executive Vice President, any Senior Vice President, any Vice President, any Second Vice President, the Treasurer, any Assistant Treasurer, the Corporate Secretary or any Assistant Secretary may appoint Attorneys-in-Fact and Agents to act for and on behalf of the Company and may give such appointee such authority as his or her certificate of authority may prescribe to sign with the Company's name and seal with the Company's seal bonds, recognizances, contracts of Indemnity, and other writings obligatory in the nature of a bond, recognizance, or conditional undertaking, and any of said officers or the Board of Directors at any time may remove any such appointee and revoke the power given him or her; and it is

FURTHER RESOLVED, that the Chairman, the President, any Vice Chairman, any Executive Vice President, any Senior Vice President or any Vice President may delegate all or any part of the foregoing authority to one or more officers or employees of this Company, provided that each such delegation is in writing and a copy thereof is filed in the office of the Secretary; and it is

FURTHER RESOLVED, that any bond, recognizance, contract of indemnity, or writing obligatory in the nature of a bond, recognizance, or conditional undertaking shall be valid and binding upon the Company when (a) signed by the President, any Vice Chairman, any Executive Vice President, any Senior Vice President or any Vice President, any Second Vice President, the Treasurer, any Assistant Treasurer, the Corporate Secretary or any Assistant Secretary and duly attested and sealed with the Company's seal by a Secretary or Assistant Secretary; or (b) duly executed (under seal, if required) by one or more Attorneys-in-Fact and Agents pursuant to the power prescribed in his or her certificates of authority or by one or more Company officers pursuant to a written delegation of authority; and it is

FURTHER RESOLVED, that the signature of each of the following officers: President, any Executive Vice President, any Senior Vice President, any Assistant Vice Presidents, Resident Assistant Secretaries or Attorneys-in-Fact for purposes only of executing and attesting bonds and undertakings and other writings obligatory in the nature thereof, and any such Power of Attorney or certificate bearing such facsimite signature or facsimite seal shall be valid and binding upon the Company and any such power so executed and certified by such facsimite signature and facsimite seal shall be valid and binding on the Company in the future with respect to any bond or understanding to which it is attached.

I, Kevin E. Hughes, the undersigned, Assistant Secretary of each of the Companies, do hereby certify that the above and foregoing is a true and correct copy of the Power of Attorney executed by said Companies, which remains in full force and effect.

Dated this 8th day of January , 2024







Kevin E. Hughes, Assistant Secretary

Form 733 10-2001

# SWORN STATEMENT

STATE OF MICHIGAN		}					
COUNTY OF Wayne	And the same of the same and th	} SS }					
Jacob Martin						being duly sw	om, deposes and
says							•
that Corby Energy Services, I	nc		TANK AND A SECURITY OF THE PARTY.	is the cor	itractor/subcon	tractor for an improv	ement to the
following described real pro-	operty situated in W	layne		County	, Michigan, de	scribed as follows:	
Contract: .0160-0453, 2022	Sewer Cleaning and	CCTV investigat	tion				
		Angert	t legal descripti	on of property)	***************************************	and the second s	
That the following is a sta withholdings is due but un owner or lessee thereof, an follows:	paid, with whom th	ocontractor and se contractor/sub	supplier and le becontractor has	aborer, for whi	ch labor the p	performance under	the contract with the
Name of Subcontractor, Supplier or Laborer	Type of Improvement Furnished	Total Contract Price	Amount Already Paid	Amount Currently Owing	Balance to Complete (Optional)	Amount of Laborer Wages Due but Unpaid	Amount of Laborer Fringe Benefits and Withholdings Due but Unpaid
Some columns are not appli	cable to all persons	listed.)					***************************************
That the contractor has not property in the superoverse of the says that he contractor/subcontractor for rescribed property is free from claims of construction liects of 1980, as amended, be	ours set forth above or she makes the fo the purpose of repre on claims of constru ns by laborers whice	oregoing statements senting to the outling to the outliers, or the may be provided.	ent as the contro wner or lessee he possibility o ded pursuant to	actor/subcontra of the above-do f construction I Section 109 of	ctor or as escribed premis	es and his or her ag specifically set forth	of the
VARNING TO OWNER: A TATEMENT TO AVOID URNISHING, OR A LA ONSTRUCTION LIEN A HED.	THE CLAIM OF A	A SUBCONTR AY PROVIDE	ACTOR, SUP A NOTICE	PLIER OR LA	aborer wh	O HAS PROVIDE ANT TO SECTION	D A NOTICE OF ON 109 OF THE
				<del>-1</del>	(Depo	ment)	American - graphic 1 december 1 agreement to the second of
'ARNING TO DEPONEN O CRIMINAL PENALTIE CTS OF 1980, AS AMEN	S AS PROVIDED	IN SECTION	110 OF THE	CONSTRUCT	A FALSE SY	VORN STATEME	
bscribed and sworn to before	re me this day	of		_41/20_		,	
يخد	Allison M Do	amen [®]	1	Notary Public			County, Michigan
d act	Notary Public of Expires 02/22	Michigan	1	My Commission	Expires	91477	42000_



### ANDERSON, ECKSTEIN & WESTRICK, INC.

CIVIL ENGINEERS - SURVEYORS - ARCHITECTS

Shelby Township - Roseville - Livonia 586.726.1234 | www.aewinc.com

January 10, 2024

Shawn Murphy City of Grosse Pointe Woods 20025 Mack Avenue Grosse Pointe Woods, Michigan 48236-2397

Reference: 2023 Sewer Cleaning and CCTV Investigation Program

City of Grosse Pointe Woods AEW Project No. 0160-0467

Dear Ms. Murphy:

Enclosed please find the Final Construction Pay Estimate along with the Sworn Statement and Consent of Surety for the above referenced project. We recommend issuing Final Payment for the Net Earnings this Period (see Page 2) in the amount of \$10,755.00 to Corby Energy Services, Inc., 6001 Schooner Drive, Belleville, MI 48112.

If you have questions or require additional information, please contact our office.

Sincerely,

DocuSigned by:

Frank D. Varicalli

C4D17CC8031F4D4...

Frank D. Varicalli

Infrastructure Rehab Group Lead

PO 47813 #592-537-975,005

F3 1-18-24

Frank Schulte, City Administrator CC:

Jim Kowalski, Director of Public Services Jeanne Duffy, Grosse Pointe Woods Susan Como, Assistant City Administrator

Jacob Martin, Corby Energy Services, Inc.

RECEIVED

JAN 18 2024



### **Construction Pay Estimate Report**

Anderson, Eckstein and Westrick, Inc.

12/22/2023 3:14 PM

FieldManager 5.3c

Contract: .0160-0467, 2023 Sewer Cleaning and CCTV Investigation

Estimate No.		imate ate	Eı	ntered By	Estimate Type	Managing Office
2	12/22	2/2023	Michelle A	\nkawi	Final	Anderson, Eckstein and Westrick, Inc.
All Contra Work Comp 12/21/202	leted		truction ed Date 23	Prime Contra Corby Energy PO Box 970 Belleville MI 48	Services, Inc.	
Comments						

Current Contract Amount: \$64,845.70

% Completed: 100%

#### **Item Usage Summary**

Project: 0160-0467, 2023 Sewer Cleaning and CCTV Investigation

Category: 0000,

Item Description	Unit	Item Code	•	Project Line No.			Quantity	Item Price	Doliar Amount
_ Traffic Maintenance and Control, Major S treet	LS	8127051	0090	0090	00	000	1.000	7,500.00	\$7,500.00
							Subtotal for Cat	egory 0000: _	\$7,500.00
						Su	btotal for Project	t 0160-0467: _	\$7,500.00
	NA US.					To	otal Estimated Ite	m Payment:	\$7,500.00

#### **Time Charges**

Site	Site Description	Site Method	Days Charged	Liq. Damages
00	SITE NUMBERS SHOULD BE CODED 00	Completion Date	,	\$0
		Total	Liquidated Damages	: \$0

### **Pre-Voucher Summary**

Project	Voucher No.	Item Payment	Stockpile Adjustment	Dollar Amount
0160-0467, 2023 Sewer Cleaning and CCTV Investigation	0002	\$7,500.00	\$0.00	\$7,500.00

Voucher Total:

\$7,500.00



# **Construction Pay Estimate Report**

Anderson, Eckstein and Westrick, Inc.

12/22/2023 3:14 PM

FieldManager 5.3c

S	u	m	11	n	а	ry	
---	---	---	----	---	---	----	--

		- Payments to date:	\$54 <b>,0</b> 90.70
Total Estimated Payment:	\$10,755.00	Net Earnings to date:	\$64,845.70
-Current Adjustments:	\$0.00	- Adjustments to date:	\$0.00
-Current Liquidated Damages:	\$0.00	<ul> <li>Liquidated Damages to date:</li> </ul>	\$0.00
-Current Retainage:	(\$3,255.00)	- Retainage to date:	\$0.00
Current Voucher Total:	\$7,500.00	Earnings to date:	\$64,845.70

#### **Estimate Certification**



### **Construction Pay Estimate Amount Balance Report**

Estimate: 2

12/22/2023 3:14 PM

FieldManager 5.3c

Anderson, Eckstein and Westrick, Inc.

Contract: .0160-0467, 2023 Sewer Cleaning and CCTV Investigation

Project: 0160-0467, 2023 Sewer Cleaning and CCTV Investigation

Category: 0000,

Prop. Line	Item Description	Item Code	Authorized Qty. U	Quantity This nit Estimate	Qty. Paid To Date	Total Qty. Placed	% Cpt	Unit Price	Dollar Amt. Paid To Date
0005	_ Bonds, Insurance and Initial Set-Up Expe nse (3% Max)	1027051	1.000 LS	;	1.000	1.000	100%	1,800.00000	\$1,800.00
0010	_ Mobilization	1027051	1.000 LS	}	1.000	1.000	100%	5,000.00000	\$5,000.00
0015	_ Cleaning 06-12 inch Combined Sewers	4027001	3,676.800 Ft		3,676.800	3,676.800	100%	1.50000	\$5,515.20
0020	_ Cleaning 15-21 inch Combined Sewers	4027001	3,223.800 Ft		3,223.800	3,223.800	100%	1.75000	\$5,641.65
0025	_ Cleaning 24-36 inch Combined Sewers	4027001	1,328.300 Ft		1,328.300	1,328.300	100%	2.00000	\$2,656.60
0030	_ Cleaning 39-48 inch Combined Sewers	4027001	1,681.200 Ft		1,681.200	1,681.200	100%	2,50000	\$4,203.00
0035	_ Final TV investigation and Log, 06-12 in ch Combined Sewers	4027001	3,676.800 Ft		3,676.800	3,676.800	100%	1.50000	\$5,515.20
0040	_ Final TV Investigation and Log, 15-21 in ch Combined Sewers	4027001	3,223.800 Ft		3,223.800	3,223.800	100%	1.50000	\$4,835.70
0045	Final TV Investigation and Log, 24-36 in ch Combined Sewers	4027001	1,328.300 Ft		1,328.300	1,328.300	100%	1.50000	\$1,992.45
0050	_ Final TV investigation and Log, 39-48 in ch Combined Sewers	4027001	1,681.200 Ft		1,681.200	1,681.200	100%	2.00000	\$3,362.40
0055	_ Final TV Investigation and Log, 60 inch Combined Sewers	4027001	1,633.300 Ft		1,633.300	1,633.300	100%	3.0000 <b>0</b>	\$4,899.90
0060	_ Heavy Cleaning 06-12 inch Combined Sewer s	4027001	0.000 Ft		0.000			1.00000	
0065	Heavy Cleaning 15-21 inch Combined Sewer s	4027001	519,800 Ft		519.800	519,800	100%	1.00000	\$519.80
0070	Heavy Cleaning 24-36 inch Combined Sewer s	4027001	961.900 Fi	l	961.900	961.900	100%	1.00000	\$961.90
0075	_ Heavy Cleaning 39-48 inch Combined Sewer s	4027001	1,329.400 Ft		1,329.400	1,329.400	100%	1.00000	\$1,329.40
0080	_ Cutting Protruding Taps	4027050	22.500 E	a	22.500	22.500	100%	50.00000	\$1,125.00
0085	_ Remove Mineral Deposit	4027050	0.000 E	9	0.000			25.00000	
0090	_ Traffic Maintenance and Control, Major S treet	8127051	1.000 L	S 1	.000 1.000	1.000	100%	7,500.00000	\$7,500.00
0095	_ Traffic Maintenance and Control, Minor S treet	8127051	1.000 L	S	1.000	1.000	100%	5,000.00000	\$5,000.00
0100	_ Extra Heavy Cleaning	8167040	1.500 H	r	1.500	1.500	100%	325.00000	\$487.50



### **Construction Pay Estimate Amount Balance Report**

Estimate: 2

12/22/2023 3:14 PM

FieldManager 5.3c

Anderson, Eckstein and Westrick, Inc.

Project: 0160-0467, 2023 Sewer Cleaning and CCTV Investigation

Category: 0000,

Prop. Line	Item Description	Item Code	Authorized Qty.		ıantity This Estimate	Qty. Paid To Date	Total Qty. Placed	% Cpt	Unit Price	Dollar Amt. Paid To Date
0105	_ Deliverables	8267051	1.000 LS		1.000	1.000	100%	2,500.00000	\$2,500.00	
							St	ibtotal fo	64845.70	

Subtotal for Project 0160-0467:

64845.70

Percentage of Contract Completed(curr): 100% (total earned to date / total of all authorized work) Total Amount Earned This Estimate: \$7,500.00

Total Amount Earned To Date: \$64,845.70

Page 2 of 2 Contract: .0160-0467 Estimate: 2

# $\text{AIA}^{\circ}$ Document G707 $^{\text{\tiny{M}}}$ – 1994

#### Consent Of Surety to Final Payment 107826957 PROJECT: (Name and address) 2023 Sewer Cleaning and CCTV ARCHITECT'S PROJECT NUMBER: OWNER: investigation - AEW Project No. ARCHITECT: CONTRACT FOR: 0160-0467 CONTRACTOR: TO OWNER: (Name and address) CONTRACT DATED: 6/5/2023 SURETY: X City of Grosse Pointe Woods OTHER: 20025 Mack Plaza Grosse Pointe Woods, MI 48236 In accordance with the provisions of the Contract between the Owner and the Contractor as indicated above, the (Insert name and address of Surety) Travelers Casualty and Surety Company of America 1441 W Long Lake Rd, Suite 300 Troy, MI 48098 , SURETY, on bond of (Insert name and address of Contractor) Corby Energy Services Inc. 6001 Schooner Belleville, MI 48112 , CONTRACTOR, hereby approves of the final payment to the Contractor, and agrees that final payment to the Contractor shall not relieve the Surety of any of its obligations to (Insert name and address of Owner) City of Grosse Pointe Woods 20025 Mack Plaza Grosse Pointe Woods, MI 48236 , OWNER, as set forth in said Surety's bond. IN WITNESS WHEREOF, the Surety has hereunto set its hand on this date: 01/08/2024 (Insert in writing the month followed by the numeric date and year.) Travelers Casualty and Surety Company of America (Surety)-

AlA Document G707™ = 1994. Copyright © 1982 and 1994 by The American Institute of Architects. All rights reserved. WARNING: This AlA* Document is protected by U.S. Copyright Law and International Treaties. Unauthorized reproduction or distribution of this AlA* Document, or any portion of it, may result in solvere civil and criminal penaltics, and will be proceduced to the maximum extent possible under the law. This document was produced by AlA software at 17:40:28 ET on 03/05/2019 under Order No. 2290361541 which expires on 05/23/2019, and is not for resale.

(389ADA60)

(Signature of authorized représentatives

Terri L. Young, Attorney-in-Fact (Printed name and title)



Travelers Casualty and Surety Company of America Travelers Casualty and Surety Company St. Paul Fire and Marine Insurance Company

#### **POWER OF ATTORNEY**

KNOW ALL MEN BY THESE PRESENTS: That Travelers Casualty and Surety Company of America, Travelers Casualty and Surety Company, and St. Paul Fire and Marine Insurance Company are corporations duly organized under the laws of the State of Connecticut (herein collectively called the "Companies"), and that the Companies do hereby make, constitute and appoint Terri L. Young of FARMINGTON HILLS Michigan , their true and lawful Attorney(s)-in-Fact to sign, execute, seal and acknowledge any and all bonds, recognizances, conditional undertakings and other writings obligatory in the nature thereof on behalf of the Companies in their business of guaranteeing the fidelity of persons, guaranteeing the performance of contracts and executing or guaranteeing bonds and undertakings required or permitted in any actions or proceedings allowed by law.

IN WITNESS WHEREOF, the Companies have caused this instrument to be signed, and their corporate seals to be hereto affixed, this 21st day of April, 2021.







State of Connecticut

City of Hartford ss.

On this the 21st day of April, 2021, before me personally appeared Robert L. Raney, who acknowledged himself to be the Senior Vice President of each of the Companies, and that he, as such, being authorized so to do, executed the foregoing instrument for the purposes therein contained by signing on behalf of said Companies by himself as a duly authorized officer.

IN WITNESS WHEREOF, I hereunto set my hand and official seal.

My Commission expires the 30th day of June, 2026



Anna P. Nowik, Notary Public

Senior Vice President

This Power of Attorney is granted under and by the authority of the following resolutions adopted by the Boards of Directors of each of the Companies, which resolutions are now in full force and effect, reading as follows:

RESOLVED, that the Chairman, the President, any Vice Chairman, any Executive Vice President, any Senior Vice President, any Vice President, any Second Vice President, the Treasurer, any Assistant Treasurer, the Corporate Secretary or any Assistant Secretary may appoint Altorneys-in-Fact and Agents to act for and on behalf of the Company and may give such appointee such authority as his or her certificate of authority may prescribe to sign with the Company's name and seal with the Company's seal bonds, recognizances, contracts of Indemnity, and other writings obligatory in the nature of a bond, recognizance, or conditional undertaking, and any of said officers or the Board of Directors at any time may remove any such appointee and revoke the power given him or her; and it is

FURTHER RESOLVED, that the Chairman, the President, any Vice Chairman, any Executive Vice President, any Senior Vice President or any Vice President may delegate all or any part of the foregoing authority to one or more officers or employees of this Company, provided that each such delegation to in writing and a copy thereof is filed in the office of the Secretary; and it is

FURTHER RESOLVED, that any bond, recognizance, contract of indemnity, or writing obligatory in the nature of a bond, recognizance, or conditional undertaking shall be valid and binding upon the Company when (a) signed by the President, any Vice Chairman, any Executive Vice President, any Senior Vice President or any Vice President, any Second Vice President, the Treasurer, any Assistant Treasurer, the Corporate Secretary or any Assistant Secretary and duly attested and sealed with the Company's seal by a Secretary or Assistant Secretary; or (b) duly executed (under seal, if required) by one or more Attorneys-in-Fact and Agents pursuant to the power prescribed in his or her certificate or their certificates of authority or by one or more Company officers pursuant to a written delegation of authority; and it is

FURTHER RESOLVED, that the signature of each of the following officers: President, any Executive Vice President, any Senior Vice President, any Assistant Vice President, and the seal of the Company may be affixed by facsimile to any Power of Attorney or to any certificate relating thereto appointing Resident Vice Presidents, Resident Assistant Secretaries or Attorneys-in-Fact for purposes only of executing and attesting bonds and undertakings and other writings obligatory in the nature thereof, and any such Power of Attorney or certificate bearing such facsimile signature or facsimile seal shall be valid and binding upon the Company and any such power so executed and certified by such facsimile signature and facsimile seal shall be valid and binding on the Company in the future with respect to any bond or understanding to which it is attached.

I, Kevin E. Hughes, the undersigned. Assistant Secretary of each of the Companies, do hereby certify that the above and foregoing is a true and correct copy of the Power of Attorney executed by said Companies, which remains in full force and effect.

Dated this 8th day of January , 2024







Kevin E, Hughes, Assistant Secretary

Form 733 10-2001

# **SWORN STATEMENT**

STATE OF MICHIGAN		} } SS					
COUNTY OF Wayne		}					
Jacob Martin		**************************************	*** *	A CONTRACTOR OF THE PARTY OF TH		, being duly sv	om, deposes and
says							
that Corby Energy Services,						tractor for an improv	ement to the
following described real pr				County	/, Michigan, dc	scribed as follows:	
Contract: .0160-0467, 2023	Sewer Cleaning and	CCTV Investigat	yon				
		(Insert	legal description	on of property)	W 440-100 ( 100-10 ) FERRON WAS A 1-1-1-2		of 2 person confirm the stand
That the following is a sta withholdings is due but un owner or lessee thereof, ar follows:	paid, with whom th	e contractor/sul	contractor has	contracted/sub	contracted for	performance under	the contract with th
Name of Subcontractor, Supplier or Laborer	Type of Improvement Furnished	Total Contract Price	Amount Already Paid	Amount Currently Owing	Balance to Complete (Optional)	Amount of Laborer Wages Due but Unpaid	Amount of Laborer Fringe Benefits and Withholdings Due but Unpaid
			····				
Some columns are not appli	cable to all nersons	listed )					
hat the contractor has not provement other than the	sums set forth above						•
eponent further says that he ontractor/subcontractor for	e or she makes the fo the purpose of repre	oregoing stateme senting to the o	ent as the contri wher or lessee	ictor/subcontra of the above-de	ctor or as escribed premis	ses and his or her ag	of the ents that the above-
escribed property is free from claims of construction lieucts of 1980, as amended, be	m claims of constru ns by laborers which	ction liens, or t h may be provi	he possibility o ded pursuant to	f construction I Section 109 of	iens, except as	specifically set fort	above, and except
VARNING TO OWNER: A TATEMENT TO AVOID URNISHING, OR A LA ONSTRUCTION LIEN A JED.	THE CLAIM OF A BORER WHO M	SUBCONTR AY PROVIDE	ACTOR, SUP	PLIER OR L OF FURNISH	aborer wh ling pursu	O HAS PROVIDE	DANOTICE OF DN 109 OF THE
				1/2/2	1/16		
				,	(Depo	onent)	
/ARNING TO DEPONEN O CRIMINAL PENALTIE CTS OF 1980, AS AMEN	S AS PROVIDED IDED, BEING SEC	IN SECTION STION 570.11	110 OF THE M	CONSTRUCT	TON LIEN AC	T, ACT NO. 497	NT, IS SUBJECT OF THE PUBLIC
ibscribed and sworn to befo	re me this day	OFUMNO	m	_1114		0.00	
Notary	son M Demen Public of Michigan ires 02/22/2028			Notary Public	istan		NM County, Michigan